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1. (5 points) The ODE (2¢tIn(t) —t) "+ (2In(t) + 1)y — Y= 0 is solved by the functions

y; = t? and yo = In(t). Use the Wronskian to determine whether these two solutions
form a fundamental solution set. Be sure to show your work and state your conclusion.
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2. (6 points) Find the general solution to the following ODE.
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3. (9 points) The function y; = 1 is a solution to the ODE
2% +ty —3y=0, t>0 (r.)

Use Reduction of Order to find the general solution to the ODE.

Yy = E S jfwn 4+ be o solhchon o (#). Let 32({‘/-’2}[%)}]1(’6)
€t
=y, () = Z}'f > Yo = v<5,+v. (-+)
N T g s 1 'r 4 4
>jz—7/“ Z.+77 (F/+7}(F)+zv‘;§
= v L _ 20" + 2. 2
t ¢* ¢3

SULS'J-((’ILM‘HHé :72}\72//:72// o (%) .
28 (v foavt Lgaw . L ) t(viE -0 4 )

-3 7. i:O . txpanclmﬁ Th /s

,9\’[)'”‘6 L(U*ﬁ?_)'/i+/l}’—l}/’30/‘——o
_éz

=) 2YV 'fj - 31):0_ Qed&t&l(ou ro,7£ order : Lp+ 7}:u),

:> Qw"f~ J3w=0o0 = w’:Z-L = d\w:__’s’ =
2 N 2 <
= d_"‘): 2. Jt =) /nw:il"l‘é'F/q = [n %3/2+/‘?

w 2 o+
Aei/e=0" o vedode = ALY 4473 8

A 2
:—) w =¢ -{-_3/ _ o
age 2

Set A=), 3=0 = = _,ff/?— - jg({_)___és/z{-;: (3/2



Thus, 7)< jﬁnf/m// solutiow
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